Exercises

3.290 [065] Prerequisites: [064], [01G]. Given sets AlﬁAZ ...and Bl’BZ ceey
for n € N, say if there is a relation (of equality or containment)
between

(liminfA,) N (liminfB,) = liminf(4, N B,) (3.290)
n—oo n—>oo n—oo

(liminf A,) U (liminf B,,) 2 liminf(A,, UB,) {(3.291)
n—oo n—oo n—oo

If equality does not hold, show an example. Then use [063] to es-
tablish similar rules for limsup,,_,  A,.

Solution 1. o657


https://coldoc.sns.it/UUID/EDB/065/
https://coldoc.sns.it/UUID/EDB/064
https://coldoc.sns.it/UUID/EDB/01G
https://coldoc.sns.it/UUID/EDB/063
https://coldoc.sns.it/UUID/EDB/066

